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Answer 1

@) Allowance for receivables account
2022 € 2022 €
31 Dec | Profit or Loss Ledger Alc 400 1 Jan |Balance b/d 4.000
31 Dec | *Balance c/d 3.600
4.000 4.000
2023
1 Jan |Balance b/d 3.600

*Balance c/d = (121.000-1.000) x 3% = €3.600

1,5 Marks
(b)
Statement of Profit or Loss (extract) for the year ended 31 December 2022
€
Expenses
Irrecoverable debts 1.000
Decrease in allowance for receivables (400)
OR
Statement of Profit or Loss (extract) for the year ended 31 December 2022
€
Gross Profit
Add: Decrease in allowance for receivables 400
Less: Expenses
Irrecoverable debts 1.000
1 Mark
(c) iii
1 Mark

(d) Any of the following:
In order to calculate the correct amount of profit for the year a provision for doubtful
debts ensures that the profit for the year is not overstated the trade receivables are
not overstated.

(Ma va diacealiotei 0 0pBAG¢ UTTOAOYIOLOS TOU KEPOOUCS TNS XPOVIAS, OTTOIEOONTTOTE
TTPOLBAETTOUEVES UEIWOTEISC KEPOWV TTPETTEI va yivovial Tn XPOVIA TTOU QuTO EXEl
KePONBEi Kal avayvwpIoTei (T1.x. arrd 1Ic TWARCEIS) Kal Ox1 apydTepa, mou autd Ba
givar aduvaro va eiompaxBei kai Ba xpeiaaTei va diaypageEi).

1 Mark

(e) Prudence concept (apxr TNG cuvtnNENTIKOTNTAG) 0,5 Mark
Total: 5 Marks
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Answer 2
(@) Cash Book (Bank Columns only)
2023 € 2023 €
30 Sep [ Balance b/d 10.000 | 30 Sep | Electricity exp. (DD) 500
30 Sep | Credit Transfer 1.000 | 30 Sep [ Bankcharges 50
30 Sep | Balance c/d 10.450
11.000 11.000
1 Oct | Balance b/d 10.450
1,5 Mark
(b) Andreas Petrou
Bank reconciliation statement at 30 September 2023
€
Balance as per updated Cash Book (Dr) 10.450
Add: Unpresented cheques:
Cheque paid to a supplier 1.200
Less: uncleared lodgment
Cheque received from a customer (600)
Credit balance as per bank statement 11.050
2,5 Marks

(c) The cash book is a book of prime (original) entry because all cash transactions are
recorded for the first time in it before they are recorded in any other accounts and it is also
a ledger account/ since it includes both the Cash and the Bank accounts.
(To BiBAio rauciou eivar Bonbnrikd PBiBAio yiari ¢’ autd KaraxwpouvTal Ol TAUEIAKES
ouvaldayéc mpiv karaxwpnBouv oe dAAouc Aoyapiacuoug, egival Kai KaBoAIKO agou
ouutrepiAauBaver 6uo Baaoikoug Aoyapiacuoug Tou Tauegiou kai TG Tpamedag).

1 Mark

Total: 5 Marks



Answer 3
(a) (i) Contribution per unit =€67.200 / 4 200 = €16

Fixed Cost €54.000

Break Even Point in units = =
v " Contribution per Unit €16

= 3 375 units

(a)(i)

) ) _ Fixed Cost + Required Profit
Required units to make €24.000 profit =

Contribution per Unit

_ €54.000 + €24.000

1c = 4 875 units

(a)(iii) Margin of safety = 4 200 - 3 375 = 825 toys

(b)  Any of the following:

2 Marks

1,5 Marks

0,5 Mark

e The margin of safety is the difference between the break-even sales in units i.e.,

3 375 toys and the actual sales in units i.e. 4 200 toys.

e The margin of safety can be defined as the amount by which sales in units can

decrease before losses are incurred by the company i.e. 825 toys.

Orroiadnmore amr@vrnon armo TiC TTI0 KATW:

o civar n diapopd ueraéu Tou veKPoU onueiou 3 375 maixvidia Kal NG HEYIOTNG

mapaywyns/ mwAnong mpoidviwv 4 200 mraixvidia. n

e 70 TTEPIBWPIO KATG TO OTTOI0 WTTOPEI va UEIWBEl n TTapaywyn/mwAnon mpiv n

emxeipnon apxicel va mpayuarorroiei {nuiéS, dnAadn 825 maixvidia).

Any other relevant answer will be accepted.

1 Mark

Total: 5 Marks



Answer 4

(a)
€ €
Direct materials
Purchases of raw materials 170.000
Less: Closing inventory (40.000)
Cost of materials used 130.000
Direct labour
Direct wages [(78.000 — 6.000) x 5/6] 60.000
Direct expenses 15.000
Prime cost 205.000
2 Marks
(b)
Factory Distribution Administration
overheads costs expenses
Carriage outwards v
Depreciation on machinery v
Auditors’ remuneration v
Advertising expenses v
2 Marks

(c) The cost of the closing work in progress is deducted because it will form part of the cost
of production for the next accounting period.
(To K6OTOC TOU TEAIKOU aTTOBEUATOC TWV NUIKATEQYACUEVWY TTPOIOVTWY agaipgital yiati 6a
ATTOTEAETEI UEPOC TOU KOOTOUS TTaPAYywWYNS yIa TNV ETOUEVN AOYIOTIKN TTEPI0OO).

Any other relevant answer will be accepted.

1 Mark
Total: 5 Marks



Answer 5

(a) Retained earnings €
Balance at start 80.000
Profit for the year 70.000
Dividends paid to ordinary shareholders (8.800)
Dividends paid to preference shareholders (€100.000x3%) (3.000)
Balance at end 138.200
2 Marks
(b) Number of ordinary shares in issue on 31 December 2022
Shares
Balance on 01 January 2022 300 000
Add: Rights issue 300 000 x1/3 100 000
400 000
Add: Bonus issue 400 000 x1/10 40 000
Balance on 31 December 2022 440 000
~ 15Marks

(c) Any of the below:

e Capital Reserves are non-distributable reserves whilst Revenue reserves are
distributable reserves OR (Capital Reserves cannot be used to pay dividend whilst
Revenue reserves can be used to pay dividend)

e Capital Reserves are created compulsorily whilst Revenue reserves are created
voluntarily

Orroiodntrore arrod 1a Mo KATW:

o Ta KepaAaiouxika arroBeuartika gival un diaveunBévra amobeuarikd, evw 1a
armoBeuatika mpooddwyv givar diaveunBévra OR (Ta KeQaAQIOUXIKG aTTOBeuaTIKG OV
UTTOPOUV va XpnoiuoTroinBouv yia TNV TANPwUN UEPICUATOC EVW Ta ATTOBEUaTIKG
TPOOOOWYV UTTOPOUV va XPNOILOTTOINBOUV YIa TNV TTANPWUN EPICLATOC)

e H dnuioupyia Twv KEGAAQIOUXIKWYV ATTOBEUATIKWY EiVal UTTOXPEWTIKN, EVW TWV
ATTOBEUATIKWYV TTPOTOdWV gival eBeAovTIKn

0,5 Mark
Examples of Capital Reserves (any of the below):
e Share premium (aTmmoBeuaTIKO £€KOOONG HETOXWV UTTEP TO APTIO)
e Revaluation reserve (a1TO8ePa ETTAVEKTINNONG)
0,5 Mark
Examples of Revenue Reserve (any of the below):
e General reserve ([evikd ATTOBEUATIKO)
e Retained earnings (un diaveunBévra kEPDON)
0,5 Mark

Total: 5 Marks



Answer 6

(a)
Error Type of error Account Account
yp to be debited to be credited
v . ]
1 rror OT prmmple/ hadog . v'Motor Car Alc | v'"Motor expenses A/c
AOYIOTIKWV KOVOVWY Kal apyXwV
v . ]
2 Err?r of dou?'e posting/ Aadog v'Purchases A/lc | v’ Drawings Alc
OITTAAG KATaxwpIong
v . .
3 Compensat’ln’g error/ Aadog . v'Purchases A/lc | ¥'Sales Alc
oupYn@IouoU ) aAAnAoavaipoupevo
4,5 Marks
(b) Error number 3
0,5 Mark
Answer 7
MULTIPLE CHOICE QUESTIONS
1. The correct answer is D
2. Emeidf otn d1atuTTwon TNG EpWTNONG UTTAPXEI EOQAAUEVO OTOIXEIO TO OTTOIO TTIBAVOV
va TTapatrAavd, HETA atro odnyieg TnG Apuodiag ApXNAG, OAEG Ol ATTAVTAOEIG
BewpouvTal opbEC.
3. The correct answer is A
4. The correct answer is D
5. The correct answer is B

Total: 5 Marks

TOTAL MARKS 35



